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Deficiency =2 &= —AK: p.76
Primitive 2 Z 5 — 4 p. 130
complementary 2 EZ&ESE K p. 70
forbidden 2> FEZ&E S — A p. 161
formidable 2> FE&EE—AK:p. 4
threaten > & FE—AK: p. 142
assume D FEFEE—AK:p. 86
immediate 255K E— A p. 146
reasonable D& E A p. 112
miracle 2 :EFESE " AR p. 119
specific D#EFEE— K p. 42
scarcely 25 AR p. 133
conversely 2 E5Z5E K p. 12
scarcely 25 A p. 133
pneumonia=> &= A p. 175
obsession D& E K p. 176
spirit 25K E A p. 113
occurrence D EEFHE L — A p. 45
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determination 2 5§&KE—AK: p. 91
operation 2 :EFE S A p. 130
tightness > EZ& 55— K: p. 98

chill >EE&ESE—K: p. 16
extension 2 :fEFEE—AK: p. 106
exhaustion2>FEFFE—AK: p. 129
exaggeration 2 #EF S " A p. 178
definite 2:#EFEFE A p. 6
nutrition D FEFEE— A p. 24
general 2#EFEE— K p. 32
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according 2 FHEFEE — AN p. 76
document = #FH>* 28 [0] 37,39 B
synthesize > &% 24 [G|RSH
obesity 225 1 [0] £ 8 FH
impediment>#E25 3 [0 5 7

2. PUEH
How long does the medication remain __ (D) ?
(A) effect (B) effectuate (C) effectively (D) effective
VWEE—Ap.19

Gl 14. # - 2 3WEH L

He remains single all his life.

The doctor urges that the patient __ (C)__ to the emergency room if he has a
fever again.

(A) comes (B) came (C) come (D) will come

DEESE A p. 69

__(C)__ power failure, it’s better to change the batteries once in three months.
(A) Avoiding (B) Having avoided (C) To avoid (D) Avoid

DEESE A p. 99

__(B)__aninsurance agent, it is necessary to pass the examination.

(A) Become (B) To become

(C) Having become (D) One becomes

. If he’d been driving more carefully, he have had an accident.
(A) will not (B) wouldn’t (C) would (D) will
DEES A p. 62
ML%%g%ﬂ%ﬁ?ﬁ’Q?%ﬁﬁﬁo
If | had known the truth, | would have told you.

The man sitting next to me on the plane was very nervous. He _ (C)__ before.
(A) hasn’t flown (B) didn’t fly (C) hadn’t flown (D) wasn’t flying
>EhFR A p. 55
2. 1was hungry. | __ (C)___ for two days.
(A) will not eat (B) have not eaten

(C) had not been eating (D) have not been eating



What’s the name of the man __ (D)__ ?
(A) you borrowed his car (B) which car you borrowed
(C) his car you borrowed (D) whose car you borrowed
>HEEE K p. 106
1. From time to time we must look up words (D) .
(A) meaning of which we do not know
(B) whose meanings we are not familiar
(C) we do not know their meanings

(D) whose meanings we do not know

19, Lora said she __ (D)__ interested in going to a museum.
(A) hasn’t been (B) hadn’t been (C) isn’t (D) wasn’t
DFEE A p.59
Bl1F R P FEA T B MBE ST YRR AL
The official expressed clearly that he would do his best to solve the  problems.

. The person with _ (C)___ you should be registering your complaint is the
manager, but he’s unavailable at the moment.
(A) who (B) whose (C) whom (D) which
SEESE " K p. 104
Grammar is the study of the systems _ (B) __ words are organized
to Make sentences.
(A) which (B) in which (C) that (D) in that
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JF3C 1
The kidneys are located in the posterior part of the abdomen. The right kidney

sits just below the liver, while the left kidney is under the diaphragm, next to the
spleen. On the vertebral level, they are approximately positioned from T12 to L3. In a
normal human adult, the kidneys are about 12 centimeters long and five centimeters
thick, and weigh 150 grams. They filter the blood and secrete water and nitrogenous
waste (urea, creatinine, and so forth) in the form of urine. The medical field that
studies the functions and diseases of the kidneys is called nephrology.

The kidneys are composed of nephrons. Each nephron consists of a glomerulus,
Bowman’s capsule, and renal tubule. There are more than a million nephrons within a
healthy adult kidney. The vital function of the nephron is to remove waste from blood
plasma. It also helps to maintain a normal fluid balance in the body by reabsorbing
water and some electrolytes back into the blood.

Urine is formed by a process of filtration and reabsorption in the nephron.
Blood enters the nephron via the arteriole. As it passes through the glomerulus, water
is filtered through the glomerular membrane and collected in the Bowman’s capsule.
The filtrate then passes through the proximal tubule, loop of Henle, distal tubule, and
collecting tubule. Other substances, such as uric acid and hydrogen ions, are also
added to the urine.

e

B BRI RE B VIR ED - AR ALHSHTREE 5 - B ALRAR T - BRRESS - 12
EMEZP B BRI TI2FILIE AL - £ —(EIEF ARG T - B RAVI12EDK -
JESEDK > EE150%¢ » MM IS MR PAPRIREVIE 2l KRl & £ Y (FRZE > B
Belit) o WIFTE DIRERI I Y B SR I Ry B B 22

BBt eb B B ALY - FEBEALRE/NK - S TR/ NVEWMNR - R
AR N B i A e — 1 (I B B - B BRI Y B D RE S (e A T KRB
AR KON — ELEE AR E BRI AR - 28 B 4R G N IR RO AR /RP T -
PR 2 38 M B BE L T AR RO P R U A A T B © IR A i/ NBHIRAE A BEATL
EEEEE/NKEE - KB N SRR S R - IR I AR
/IVE > Henlef > &8/ NE > RIUSEANE - HAPVE - AIREEN STt a0/
FlFRR

31. The kidney is situated next to the spleen.
(A) right (B) left (C) ventral (D) lower
fif: (B) > A 1E4ERS: RZEIFESE 2 {7: while the left kidney is under the
diaphragm, next to the spleen.



32. Which of the following does NOT appear in the form of normal urine after the
kidneys filter the blood?
(A) urea (B) creatinine (C) water (D) red blood cell
fiF: (B) >/ A JE&EE . 4 E(FSE 5-6 {7:: They filter the blood and secrete
water and nitrogenous waste (urea, creatinine, and so forth) in the form
of urine.

33. Which of these does NOT compose nephron?
(A) kidney (B) Bowman'’s capsule (C) renal tubule (D) glomerulus
fiF: (A) > BRI E4R 2% 4REFESE 8-9 {711 Each nephron consists of a
glomerulus, Bowman’s capsule, and renal tubule.

34. How many nephrons can possibly exist within a normal adult kidney?
(A) two hundred  (B) one thousand  (C) more than a million
(D) fewer than a hundred
fit: (C) >/ 8AY: 1EREE . 4 EIETE 9-10 17:: There are more than a million
nephrons within a healthy adult kidney.

35. Blood gets into the nephron through the
(A) glomerulus (B) arteriole (C) Bowman’s capsule (D) loop of Henle
fift: (B) >8R 1H4RZE . &KL 14 17:: Blood enters the nephron via the
arteriole.

Passage B

Whether they’re swooping in to deliver packages or spotting victims in
disaster zones, swarms of flying robots could have a range of important applications
in the future, a new study found. The robots can switch from driving to flying without
colliding with each other and could offer benefits beyond the traditional flying-car
concepts of sci-fi lore, the study said.

Robots with similar versatility could fly over impediments on the ground or
drive under overhead obstacles. But currently, robots that are good at one mode of
transportation are usually bad at others, study lead author Brandon Araki, a roboticist
at the Massachusetts Institute of Technology’s Computer Science and Artificial
Intelligence Laboratory, and his colleagues said in their new study.

The researchers previously developed a robot named the “flying monkey” that
could run and fly, as well as grasp items. However, the researchers had to program the
paths the flying monkey would take; in other words, it could not find safe routes by



itself.

Now, these scientists have developed flying cars that can both fly and drive
through a simulated city-like setting that has parking spots, landing pads and no-fly
zones. Moreover, these drones can move autonomously without colliding with each
other, the researchers said. “Our vehicles can find their own safe paths,” Araki told
Live Science.

The researchers took eight four-rotor “quadcopter” drones and put two small
motors with wheels on the bottom of each drone, to make them capable of driving. In
simulations, the robots could fly for about 295 feet (90 meters) or drive for 826 feet
(252 meters) before their batteries ran out.

The roboticists developed algorithms that ensured the robots did not collide with
one another. In tests in a miniature town made using everyday materials such as
pieces of fabric for roads and cardboard boxes for buildings, all drones successfully
navigated from a starting point to an ending point on collision-free paths. Adding the
driving apparatus to each drone added weight and so slightly reduced battery life,
decreasing the maximum distances the drones could fly by about 14 percent, the
researchers said. Still, the scientists noted that driving remained more efficient than
flying, offsetting the relatively small loss in efficiency in flying due to the added
weight.

“The most important implication of our research is that vehicles that combine
flying and driving have the potential to be both much more efficient and much more
useful than vehicles that can only drive or only fly,” Araki said.

The scientists cautioned that fleets of automated flying taxis are likely not
coming anytime soon. “Our current system of drones certainly isn’t robust enough to
actually carry people right now,” Araki said. Still, these experiments with quadcopters
help explore “various ideas related to flying cars,” he said.

The scientists detailed their findings on June 1 at the Institute of Electrical and
Electronics Engineers’ International Conference on Robotics and Automation in
Singapore.
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36. What is the best title for this reading passage?

(A) Hybrid driving-flying robots could go beyond the flying car

(B) Flying robot is the only choice of future transportation

(C) The importance of flying robots and flying cars

(D) Flying robots will not replace traditional flying cars

fige: (A) >E8: EEHE: fEETREERA, HE: ... The robots can
switch from driving to flying without colliding with each other. (f#23
N H LA B R T A & A R - ...)

[RlIit: driving,  flying 73 R {[E 52 8 £

37. What can’t “flying monkey” do in this reading passage?
(A)run  (B) grasp objects (C) find safe path by itself (D) fly
fig: (C) >R B4 EE . EFE 3 E: ...the “flying monkey” that could



38.

39.

40.

run and fly, as well as grasp items. However, the researchers had to
program the paths the flying monkey would take; in other words, it
could not find safe routes by itself.

What can be inferred about Brandon Araki’s attitude in this reading passage?

(A) The research on roboticists development is now completed.

(B) The flying drones will replace all the vehicles soon.

(C) The quadcopters will be his main research subject.

(D) More studies on flying drones should be carried out.

figg. (D) > HEdm+ T 5 SR EEEE R, Btk Brandon Araki £
W ERHBHETERIEE, e IERERE: : ... The scientists cautioned
that fleets of automated flying taxis are likely not coming anytime
soon. =2 EFEIN BEEIE LAV ..

According to this reading passage, how did the researchers assure the safety of the

flying robots?

(A) A laboratory test was conducted.

(B) It was tested in a small town.

(C) It was analyzed by a computer stimulation test.

(D) It was tested in an artificial scenario.

fige: (D) > (B RE: QREACHAEIHHE6 B
% 4 E: ...through a simulated city-like setting...
%8 6 E%: ...In tests in a miniature town made using everyday materials
such as pieces of fabric for roads...
LA EEEHATRL, BAE NSRS 5.

What can be inferred about scientists’ attitude toward the drones in the sixth

paragraph?

(A) They concern the balance of weight putting on the drones.

(B) They suggest that drones are the safest way of flying in the future.

(C) Flying monkey is still the best flying robot among the others.

(D) Drones will never collide with one another.

fige: (B) > Bl EH A, FE LEEHRREA: GREEEFE2 &
173 ..."0ur current system of drones certainly isn’t robust enough to
actually carry people right now,”... ( “Fe(" H i A% 2405 /AR
ra R FAEIRET AR -7 ) Wi BF (A) FHIEkE!



